o
[N

<0 @> (rad)
o
o [
[ [¢)]

o
T

1

2 3
TPlpoT (PCA t%obeamlinélf)

< dcotl>)

o
T

1

—s=— DQM_V0001_R000000001__Global__CMSSW_original
—— DQM_V0001_R000000001__Global__CMSSW._cleaner

100r

o ™
o O
[

< 00, > (M)

N
o
I

20+ .

..................

..................

..................

1

<0 / > (Y
PP, > (Y0)
O = N W N o

£y

ra

...................

1

I : 2 3
TPl[:g)T (PCA t%)obeamlin%)o

= 100

-80F------
9_1@0' PR N el 1 bl L
IS
D: -+

0.95

1

2 3
TPlp?T (PCA tjbobeamliné'f)



	Contents
	Page 1


